















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Q11

Q12

Q13

Qi4

Q15

Q16

Q17

45-3=42

3boys=42x5=210

1boy=210+3=70

45boys=70x45=3150

3158 flowers were needed for fund raising.
a) 4p=$16+$4=$20

1P=$20:4=$5

1 penis $5

b)$5+$20=%$25

He would be left with $25.

a) 7x6=42hours

He worked 42 hours in-the week.

b} Mon=$4x6=$24

Mon to Fri=5 days

5x%$24=%$120

$30x2=%$60

$120+$60=$180

4180+$10=$190
a)30cm-10cm=20cm
Vol=50cmx25cmx20cm=25000cm?
b) 25000cm®+35¢cm+20cm=35.71428571cm=36¢cm
The height of the water level is 36cm.
A+B=275

B+C=122

A+C=235

A more than B=235-122=113
2B=275-113=162

1B=162+2=81

Belle baked 81 muffins.

a)3x3=9

9-2=7

154:7=22

22x3=66

66+22=88

There were 88 children at the party.
b) 66x3=198

22x2=44

198+44=242

The total number of balloons was 242.

,_Ezq/-{ M‘)ﬂy T

e SV £Gch )
a) 1/8R=98:7=14

He sold 14 tickets on Tuesday.
b)R=14x8=112

4/9T=112

1/9T=112:4=28

T=28x9=252



Q18

252x$5=$1260

He collected $1260 from the sale of all the tickets.

1u=40 ‘
Caleb at first=40x$0.50=$20

Dan at first=3x40x$0.20=24

Caleb after=$20+$8=$28

Dan after=$24-$8=$16
Diff=$28-$16=512
The difference was $26.



CHIJ ST NICHOLAS GIRLS’ SCHOOL (PRIMARY)

Primary 5

2014 Semestral Assessment Two
Mathematics
Paper 1
Booklet A

28 Qctober 2014

Total Time for Booklets A and B : 50 min

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow ali instructions carefuily.

Answer all questions.

The use of calculators is NOT aliowed.

This booklet consists of 7 printed pages including the cover page.



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each
question, four options are given. One of them is the correct -answer. Make your choice
(1, 2, 3 or 4). Shade the correct oval (1, 2, 3, or 4) on the Optical Answer Sheet.

(20 marks)

1. Dora bought a flat. it cost $740 000 when rounded off to the nearest $10 000.
Which one of the following could be the price she paid for the flat?

1) 734599
2) 739 405
3) 745 000

4) 745 199 L e

2. Louis and Nikki are 9 and 15 years old respectively. In 3 years' time, what will
be the ratio of Louis’ age to Nikki's age?

3. Express 0.46 as a percentage.

1) 0.046 %
2) 0.46 %
3) 4.6 %

4} 46 %



A packet of nuts is repacked into 3 bags. The mass of the first bag is 5.6 kg.
The total mass of the second and third bag is 7 kg. Find the average mass of
the 3 bags.

1) 4.2 kg
2) 9.1kg
3) 12.6 kg

4) 19.6 kg

The figure below is not drawn to scale. What is £ w?

65 113°

1) 67°
2) 90°
3) 92°

4) 113°



Find the volume of the box.
8 cm

9 cm

2 om 8 cm

1} 32cm’
2) 144 cm®
3) 162 cm®

4) 576 cm’

The average amount of water used by Nana'and her three sisters is
84 ¢ per week. What is the total amount of water used per week?

1) 21 ¢
2) 24 ¢
3) 252 ¢

4) 336 ¢

Find the value of 12 + 7. Express your answer as a decimal correctio 2
decimal places.

1) 0.58
2) 0.59
3) 1.71

4) 1.72



9. Triangle CEG is not drawn to scale. If CG is the base of Triangle CEG, find its
height.

10. What must be added to 28 thousands to make a million?

1) 72 000
2) 720 000
3) 972 000

4} 1280 000



11. How many times in total, does the digit 1 appear between 100 and 1207

3) 30

4) 31

12.  Kanping earned $1200 last month working as a part-time waitress. She saved
20% of her salary and spent 67% of it on food and transportation. The rest of
her salary was spent on DVDs. How much did Kanping spend on DVDs?

1) $156
2) $216
3) $336

4) $436

13.  The figure, not drawn to scale, shows a trapezium RSTU. Find £ RSV.

R > S
V. 42
U > T
1) 21°
2) 42°
3} 69°
4) 90°



14.

15.

Which one of the following has the greatest value?

L | el
>
L | o

[FVRRW
[N

3)

Al
>
[N

[—

4)

W | s
)

Leticia collected 20 more pebbles than Lucy. When Lucy gave away 4 of her
pebbles, she was left with % of what Leticia had. How many pebbles did Lucy

have at first? -

** END OF BOOKLET A**
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Class :

CHLJ ST NICHOLAS GIRLS' SCHOOL (PRIMARY)

Primary 5

2014 Semestral Assessment Two
Mathematics
Paper 1
Booklet B

28 October 2014

Booklet A 20

Booklet B 20

Total (Paper 1) 40

Total Time for Booklets A and B : 50 min

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Foilow all instructions carefully.

Answer all questions.

The use of calculators is NOT allowed.

This booklet consists of 8 printed pages including the cover page.



Questions 16 to 25 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. (10 marks)
16.  Find the value of 380 + 180 =3 x (27 -24).
Ans :
17.  Express 170.01¢ in £ and m?.
Ans : mf

18.  What is the missing number in the box?

4

72 _1—= =
10 3)
Ans

Do not
write in this
space




19. Moy and Yusof collected a total of 121 ice-cream sticks in the ratio 2 : 9. Yusof
collected three times as many ice cream sticks as 1zam. How many ice cream

sticks did lzam collect?

Ans :
20.  Find the value of E + E . : e
4 4
Express your answer as a mixed number.
Ans :

21.  The usual price of a dining table was $600. Jonas bought the table at a
discount of 15%. How much did he pay for the dining table?

Ans:$

Do not
write in
this space




22. Lois bought 30 protractors at $1.05 each for her pupils. She received a Do,t”‘?t
change of $68.50 from the cashier after paying for the protractors. How \t‘;.;ri;e n
. . space
much did she pay the cashier?

Ans: 3

23.  The figure below is not drawn to scale. Find the area of the shaded triangle.

Ans : _cm2




Do not
- write in
this space

3
24.  Muthu made some toy animals using clay. «g of them were dogs and 5 of

the remainder were pandas. The rest were bears. What fraction of the toy

animals were bears? Express your answer in the simplest form.

Ans :

25. 12 out of the 40 mangoes in a crate are rotten. The rest are not rotten.
What percentage of the mangoes are not rotten?

Ans %




Questions 26 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks}

26. A total of 220 children queued up for a bumper ride. There were 2t least 5
boys between any 2 girls. What is the largest possible number of giris in the
queue?

Ans :

27.  The total height of 5 buildings is 745 m. One of the buildings is 69 m tall.
What is the average height of the remaining buildings?

Ans :

Do not
write in this
space




28. The figure below is not drawn to scale. ABC is a straight line. £ ABD =138°
and < EBC =124° Find £EBD.

38°™\124°

Ans: _

29. Serena spent 5 days making teddy bears for her classmates. Each day, she
made 2 more teddy bears than the day before. At the end of the 5 days, she
made a total of 35 teddy bears. How many teddy bears did she make on the

fifth day?

Ans:

Do not
write in this
space




30.

The figure below, not drawn to scale, shows a rectangle QRST. The length
of TQ is three times the length of QR. Both U and V are midpoints of TS and
QR respectively. TW = WU, What is the area of the unshaded parts of the
figure? Express-your-answerin-the-simplest-form.

P
——

« 24 cm >

Ans : cm

*END OF PAPER 1**

Do not
write in this
space
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Paper 1 40
Paper 2 60
Total 100

Time : 1 hour 40 minutes

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so
Follow all instructions carefully,
Answer all questions.

The use of an approved calculator is expected, where appropriate.

This booklet consisis of 15 printed pages including the cover page.



Questions 1 to § carry 2 marks each. Show your working clearly and write your Do not
answers in the spaces provided. For questions which require units, give your write in
answers in the units stated. _ this space

(10 marks)

A number contains 6 digits.
The digit in the tens place is the greatest 1-digit number.

The digit in the thousands place is half of the digit in the hundreds place.
There are 2 zeros in the number.

One of the zeros is next to the digit 6 which has a value of 600 000,

Write down any 2 possible numbers.

Ans:

" The figure below is not drawn to scale. ST and UV are straight lines. The
ratio of zato «b is 3: 2. Find the difference between 2a and <c.

Ans - °




3.

The 2 figures below are made up of 2-cm cubes.

=3 ‘; /
] L1

' 1 L7
e

Figure S 7 Figure T 29

Find the difference between the volumes of Figure S and Figure T.

Ans : _cm3

The price of the ribbon sold in a handicraft shop is shown in the table below.

First 2 metres 80 ¢ per metre

Every additional ;—metre 35¢

Setia bought 5.5 m of ribbon from the shop. How much did she pay?

Ans . %

Do not
write in
this space




5. Marvin and Lydia have $2613 altogether. Lydia has g of what Marvin has.

How much money does Marvin have?

Ans: 3




For questions 6 to 18, show your working clearly and write your answers in the
spaces provided. The number of marks avaitable is shown in brackets [ ] at the
end of each question or part-question. {50 marks)

6. A group of boys shared some game cards among themselves. They tried to
share by taking 16 cards each. However, the last boy had only 12 cards. If
the boys decided to take 14 cards each, there would be 6 cards leftover.
How many cards were there altogether?

Ans [3m]

7. 45% of the pupils in Happy Smile Kindergarten are boys. 40% of the boys

1
and 3 of the girls are taking part in the year end concert. What percentage

of the children in the kindergarten are taking part in the year end concert?

Ans [3mi

Do not
write in this
space




The table below shows the number of bicycles Cool Bike Shop sold over a
period of 5 months in 2013.

Month May June July August | September
Number of

bicycles 250 ? I 400 275 675
sold

(@) The ratio of the number of bicycles sold in May to the number of
bicycles sold in May and June is 5 1 17. How many bicycles were sold
in June?

(b) From October to December in the same year, the shop sold 26% ot
what was sold in June. Find the average number of bicycles sold from
October to December.

Ans : (a) [1m]

(b) (2m]

Do not
write in
this space




Do not
9. A rectangular container has a square base of side 7 cm. The length of the write in
this space

container is -;— of its height. Find the volume of the container.

Ans : | [3r-r_1‘]—

10. Loha bought 3% kg of flour to bake a lemon cake and some cookies for a

party. She used % of the flour to bake the lemon cake and % of the

remaining flour to bake the cookies. How much flour did she have [eft?

Ans : ~[3m]




11.

During the Great Singapore Sale, ACE Electric City offered the following

promotion:

Buy any 2 items, LESS 15%
AND

Buy the 3rd item at LESS 50%.
{This item has to be of the lowest vaiue
amongst the three items bought.)

Ginnie bought a washing machine, a microwave oven and a television set.
The selling prices of the three items are given in the table-below.

SALE ! BUY NOW 11
Washing machine —- $1099 $899
Microwave oven ----- $899  $799
Television set ------- $1299 $990

How much did she spend in all?

Ans :

Do not
write in
this space

5



12

The figure below is not drawn {o scale. ABCD is a rhombus. DE = EF and
EF is parallel to DC. Find

(a) «£EDF
(b) ZADE

Ans : (a) [2m]

(b) - [2m]

Do not
write in
this space




13.

3
Kimura had some badges. He gave % of them to Ming Teck and 1 of the

remaining badges to Harold. Then his mother bought him another 182
badges. In the end, he had as many badges as he had at first. How many

badges did he have at first?

Ans : _[4m]

Do not
write in this
space

10




14.

A total of 1936 children and adults attended a carnival. There were 318 girls
and 498 women. The number of children to the number of adults is in the
ratio 3 : 5.

a) How many men were there at the carnival?

b) What percentage of the people at the carnival were males? Leave your
answer correct to the nearest per cent.

Ans : a) [2m]

11

Do not
write in this
space




15.

Linden had 29 more fifty-cent coins than ten-cent coins. After he had used
37 fifty-cent coins, the value of the fifty-cent coins was $3.20 more than the
value of the ten-cent coins. How many fifty-cent coins and ten-cent coins did

he have af first?

Ans : Fifty-cent coins =

Ten-cent coins > [4m]

Do not
write in this
space




16.

The figure below shows a rectangular piece of paper with two foided

comers, A and B. The area of Y is % the area of X. What is the ratio of the

area of X to the area of Y to the area of the rectangular piece of paper
before it is folded?

4

36 cm

Ans : [4m]

13

Do not
write in this
space




17. Luna wanted to buy a computer. The computer cost $3850. The shop

offered two modes of payment, as shown in the table below.

Mode of Payment

Payment A - By cash

Payment B - By instalment

Pay cash in full and receive
12 % discount

|
i

Pay $331 monthly for a year,
and 7.5 % on original price of

| the computer as down payment

(a) If Luna opted for Payment A, what was the discounted price of the

computer?

(b) Which plan, Payment A or Payment B, will help Luna to save more

money ? How much money would she save ?

Ans : a)

b) Payment

5

Bo not
write in this
space




18.

A courier service company charged $12 for the delivery of big parcels and
$7 for small parcels. In September, the courier service company received
$12 485.

The number of big parcels delivered was % of the number of small parcels

delivered.
(a) How many small parcels did the company deliver?

(b} Find the difference in the amount of money received from the’
delivery of big parcels and small parcels.

Ans : a) [3m]

b) _[2m]

* END OF PAPER **

15

Do not
write in this
space




Exam Paper 2014 Answer Sheet

School: CHIJ ST NICHOLAS GIRLS’ SCHOOL
Subject: PRIMARY 5 MATHEMATICS
Term: SA2

Paper 1

1)
2)
3)
4)
9)

16. 560

17. 170litres 10m|
18. ¥s

19. 33

20. 3%

21.510

22. 100

23. 42

24. ',

25.70

26. 1grp > 5B + 1G = 6 children
No. of grp > 220 + 6 = 3614
No. of girls > 36 + 1 = 37

27. Total remaining heights = 745 — 69 = 676
Average > 676 +~4 = 169

28. 138 + 124 = 262
262 - 180 = 82

29.5u > 35— (2 x 10) = 15
1u—=>3
5'day > 3+2+2+2+2=11

30. TQ > 24
QR >24+3=8
VR>8+2=4
TW-2>4+2=2
AreaofA-> '/, x2x8=8
Areaof B> Y, x4x8=16
Total area > 24 x 8 =192

6)
7)
8)
9)
10)

11)
12)
13)
14)
15)

IFIEY NN TN INY
U INIENIN)
NI FCY S RN







Unshaded > 192 -8 - 16 = 168

Paper 2

1.
2.

603690, 602490

5u > 155

Anglea > (3 x155)+5=93
Angle ¢ > 180 - 155=25
93 -25=168

Tcube 2 2x2x2=8
Diff »29-7 =22
22 cubes > 8x22=176

2m 2> 0.80x2=1.60
Remaining > 55-2=35
356+05=7

7x035=245

Total paid > 2.45 + 1.60 = 4.05

13u > 2613
Marvin > (8 x 2613) = 13 = 1608

16c+12=14c+14x1+6
16c + 12 = 14¢c + 20
16c~14c =8
1c=4
No. of cards > (16 x4)+ 12 =76

Taking part > (18 + 11) = 100 = 29%

(a) June 2> 17u—-5u=12u
5u > 250
12u - 600 bicycles
(b) Oct to Dec - (26 +100) x 600 = 156
Oct to Dec - 3 months
Average > 156 + 3 = 52 bicycles

Length > 7cm
Height > 7 x 3 = 21cm
Volume - 7 x 7 x 21 = 1029¢m®

10.1 - Y =3,

11. Total of WM and TV <> 899 + 990 = $1889

Flour after LC -> ¥4 x 3'/5 = 2%/skg
135 =25
Flour left > %5 x 25 = #1,5kg

After disc. > %%/,40 x 1889 = $1605.65
MO > 5%,00 x 799 = $399.50
Total > 1605.65 + 399.50 = $2005.15






12. (a) Angle EDF - (180 - 134) + 2 = 23°
(b) Angle EFC > 18088 = 92
Angle FDA > 92 - 23 = 69
Angle ADE > 69 — 23 = 46°

13.% = gg
3f11 = 15/55
Ming Teck > /g badges
Harold - /55 of remaining badges
Gave away - 11u + 15u = 26u
26u > 182
66u > 462

14.C: A: Total

3:5:8

(a) Adults > (5 x 1936) +8 = 1210
Men 2 1210 - 498 =712

(b) Children > (3 x 1936) + 8§ = 726
Boys > 726 — 318 = 408
Males > 408 + 712 = 1120
(1120 + 1936) x 100% = 58%

15. Try an error method
18 x $0.10 = $1.80
47 x $0.50 = $23.50

16.Area of X > '/, x 12 x 18 = 108
Areaof Y - 108 ~ 4 =27
Area of paper > 36 x (12 + 4) = 576
X Y : Area of paper
108 :27 : 576
12:3:64

17.(a) 100% - 12% = 88%
#8/,00 X 3850 = $3388
(b) Payment B: DP > ™/,00 x 3850 = 288.75
12mths < 331 x 12 = 3972
Payment B > 3972 + 288.75 = $4260.75
Save > $4260.75 - $3388 = $872.75
Payment A

18.(a) 1grp (7B + 98) > (7 x $12) + (9 x $7) = $147
No. of grp -> 12495 + 147 = 85
No. of small parcels > 85 x 9 = 765
(b} No. of big parcels > 85x7 = 595
Amt for big parcels > 12 x 595 = 7140
Amt of small parcels> 7 x 765 = 5355
Diff = $7140 - $5355 = $1785



b
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20
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20
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60
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100
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Do not turn over this page until you are told to do so.
Follow all instructions carefully.

© Answer all questions.

Shade your answers in the Optical Answer Sheet {OAS) provided.
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Booklet A:

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each of the questions, four options are given. One of them is the correct answer,
Choose the correct answer (1, 2, 3 or 4). Shade the correct oval on the Optical
Answer Sheet provided.

(20 marks)
1 $27 668 was collected in a donation drive.
Round off $27 668 to the nearest thousand.
(1)  $27 000
(2) $27 600
(3) $27 700
(4) $28 000 ( )
2, Find the value of 80 —40 + 5 = 8,
(1 1
(2) 16
(3) 64
4 79 ()
3. Which of the following is the same as 7 km 5 m?
(1) 705m
(2) 7005 m
(3) 7050m
(4) 7500 m ( )
{Go on to the next page)

FPage 1



What is the mass of the bunch of grapes as shown on the weighing

scale in the figure?

(1)
(@)
(3)
(4)

550 g
600 ¢
650 g
700 g

How many quarters are there in 3% ?

M
(2)
(3
(4)

12
14

What is the value of 2 hundreds, 7 tenths and 3 thousandths?

(1
@)
(3)
4)

270.003
200.730
200.703
200.073

Page 2

)
|
( )
( )
{Go on to the next page)



4.8 kg of sugar was needed to bake 300 cookies. How much sugar

was needed to bake one cookie?

(1)
@)
(3)
(4)

0.016 g
0169
1649

16 g ( )

In the figure, AXC and BXE are straight lines.
 AXB = 110° and ZEXD = 22°, find £DXC. o

(1
(2)
(3)
(4)

A B
110°
X
22°
E c
D

68°
70°
78°
88° ( )

(Go on fo the next page)

Page 3



10.

11.

The ratio of the number of girls 1o the number of boys in class SE is

2 : 5, Given that there are 42 children altogether, how many more

boys than girls are there in the class?

(1
2)
3)
4)

12
18
30 { )

Miss Ng bought a box of 25 muffins. 11 of them were chocolate

muffins and the rest were blueberry muffins. What percentage of - C e

the muffins were blueberry muffins?

1)
(2)
(3)
(4)

11%
14%
44%
56% ( )

Jessica bought 9.25 m of ribbon. She used 0.355 m of ribbon to tie
a gift box. How much ribbon was left after tying 20 such gift boxes?

M
(2)
3)
4

0.71m
215m
7.10 m
8.54m { )

{Go on to the next page)

Page 4



12.

13.

In the figure below, PQRS is a trapezium and QR = QT.

Find £PTQ.
P Q
35° 70°
S T R
(i) 3%8°
(2) 40°
(3) b&5°
(4 60° ( )
10:17? [:14 = 15:8:21.
What is the missing number in the box?
(h ©
2 2
(3) 3
4y 4 ( )
{Go on o the next page)

Page 5



14.

16.

What is the area of triangle ABC as shown in the figure?

(1)
)
3
(4)

5cm

22.5 cm?
30 cm?

32.5 cm?
58.5 cm?

9cm

At a fruit stall, —g— of the number of mangoes is the same as 1 of

the number of pears. What fraction of the fruits are mangoes?

(1)

(@)

(3)

@

alm Q—Sl‘-” wi o oo;'c.n

Page 6

{Go on to Booklet B)



HENRY PARK PRIMARY SCHOOL
2014 SEMESTRAL EXAMINATION 2
MATHEMATICS
PRIMARY 5

PAPER 1
(BOOKLET B)

Name: _( )

Class: Primary 5

Total Time for Booklets A and B: 50 min

Do not turn aver this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

You are not allowed to use a calculator.

20




Booklet B: :

Questions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.

(10 marks)
16. Whrite nine hundred and two thousand, two hundred and three in Do not
numerals. write in
this space

Ans:

17. A jug contains 1.25Titres of milkk. Wayne pours 350 m? of milic from the
jug into a cup. How much milk is left in the jug? Leave your answer in

millilitres.

Ans: mi

(Go on to the next page)

Page 7




Do not
write in
this space

18. 3-kg of rice is packed equally into 4 bags. How much rice is there in each

bag?

Ans: kg

19. A number has 3 decimal places. Whenitis rounded off to the nearest
hundredih, it is 1.07. What is the greatest possibie value of the number?

Ans:

(Go on to the next page)

Page 8



20. A coil of rope was cut equally into 600 pieces. Each piece of rope

measured 13.5 cm. What was the original length of the coil of rope in

meftres?

21. The figure below is made up of squares, Shade two more squares so that

the dotted line is a line of symmetry.

Pag-e 9

Ans; m

(Go on 1o the next page)

Do not
write In.
this space




22. Measure Za. Do nat
write in

this space

Ans: °

23. The pattern in the box shows part of a tessellation. Extend the

tessellation by drawing two more unit shapes in the space provided in

the box.
[ » . » * . - - » » - - . - *
L 4 - - - - - - - » »
L] - - L ] - L] - - » » -
- - - - - - - » L 3
» * . - ° + . . ¥ »
- a - . » . s ' *
[ - - - - . . » » -
. & - - - . - . * . »
. . » a, s - v + ¢ » . *
- a L 3 L » L] - - - [ ] - - - » -

(Go on to the next page)
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24, Mr Chua drove 1715 km in 7 days. What was the average distance he Do not

drove per day? write in
this space

Ans: km

25. The ratio of the Reina’s savings to Samantha’s savings is 3 : 4. The ratio
of Samantha’s savings to Tina’s savings is 4 : 7. What is the ratio of

Reina’s savings to Tina’s savings?

Ans:

{Go on to the next page)
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Questions 26 to 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

(10 marks)
26. In the figure below, ABC is an isosceles triangle. Do not
/ CAD = 28° and ZADC = 34°. Find £BAC. write in
this space
A o
28°
j 34°
B Cc D -

Ans:

57. A school bus can take a maximum of 40 people in a trip. There are 350
students and 18 teachers going for a CCA trip. What is the minimum

number of buses that must be booked?

Ans:

{Go on to the next page)
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28. Mr Tan saves 14% of hisrsalary each month. He saves $420 each month. | Do not

How much is Mr Tan's monthly salary? write in
this space

Ans: $

29. Ken had "g“ as much money as Larry. Ken spent %of his money and

Larry spent twice as much as Ken. What fraction of Larry’s money was

left? Give your answer as a fraction in its simplest form.

Ans:

{Go on to the next page)
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30. Mrs Fields had an equal mass of flour and sugar at first. After she used | Donot
33.2 kg of sugar, the mass of flour became 6 times as much as the mass write in

of sugar left. What was the mass of sugar left? this space

Ans: kg

End of Paper 1
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided
for each question and write your answers in the space provided. For questions which
require units, give your answers in the units stated.

(10 marks)
1. . Recipe Do not wiite
in this space
320 g flour
120 g butter
200 g sugar

Jenny uses the recipe above {0 make 30 cupcakes. She has 1Kkg of flour,

500g of butter and 500 g of sugar. What is the maximum number of

cupcakes she can make?

Ans:

2. Mrs Heng bought 30 pens and 10 keychains at a bookshaop. She paid
$152.50 in total for her purchases. Given that each keychain cost $8.20,
find the cost of one such pen.

Ans: §

(Go on to the next page) D
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3. Inthe figure below, WXYZ is a square which is made up of 9 identical Do not write
squares. Find the sumof Za, Zb and Zc. in this space

\
A

Ans:

4. Atoy car cost $34. It cost half as much as a toy aeroplane. Sally bought
2 toy cars and a toy aeroplane. She gave the cashier $150. How much

change did Sally receive?

Ans: $

(Go on to the next page)
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i ; : D t wri
There were % as many tennis rackets as badminton rackets In the PE o notwnte

in this space
storeroom. 33 badminton rackets were taken out and there were twice as
many tennis rackets as badminton rackets in the end. How many tennis

rackets were there in the storeroom?

Ans:

(Go on to the next page)
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For questions 6 to 18, show your working clearly in the space provided for each
question and write your answers in the spaces provided. The number of marks available
is shown in brackets [ ] at the end of each question or part-question.

{50 marks)
6. Apples in a fruit stall were placed equally in 25 baskets at first. Do not write
3 baskets were removed and the apples in these baskets were placed in in this space

the remaining 22 baskets. As a resuif, the number of apples in each

remaining basket increased by 6. What was the total number of apples in
all the baskets at first?

Ans: 4]

(Go on to the next page)
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7. The figure below is made up of 3-cm cubes. Sandy wants to use more Do not write
3.cm cubes to form the figure into a 12cm by 12 cm by 9 cm cuboid. in this space
How many more 3-cm cubes will Sandy need in order to form the cuboid?

5
Ans: {3}
(Go on to the next page)
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8. A burger cost twice as much as a sandwich at a cafeteria. Mrs Tan spent | Do not write
1 : . 1 ) in this space
1 of her money on some sandwiches and 3 of the remainder on

2 burgers. How many sandwiches did Mrs Tan buy?

Ans: [4]

{Go on to the next page)
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9. Tank A and Tank B were filled to the brim \_Mith water. Tank A contained Do not write

8.5 litres more water than Tank B. Some water was removed from both in this space

tanks so that Tank Awas % full and Tank B was % fuli. Given that there

was 12.9 litres of water ieft in Tank A, how much water was removed from

Tank B?

Ans: ] (3]

{Go on to the next page)
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10. In the figure below, ADHE, ADCB and EHGF are trapeziums. APE and Do not write
" BGC are isosceles friangles. £ ADH = 84°, in this space
(a) Find Zx. A B
(b) Find £Ly. 640
X
£ } 5 > H
B
F H— G
y
C
Ans: (a) [2]
(b) 2]
(Go on to the next page)
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14. Calvin, Edward and David sold some tickets for their school concert. Do not write
Calvin sold —3— of the total number of tickets. Edward and David sold the in this space

remaining tickets in the ratio 5 . 7. Given that Calvin sold 108 more fickets

than Edward, how many tickets did the 3 of them sell altogether?

Ans: {3]

(Go on to the next page)
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12. Mrs Bala baked three types of pies. 46 of them were chicken pies and Do not write

in this space
125 were vegetable pies. She-baked twice as many fruit pies as vegetable

pies. What percentage of the pies Mrs Bala baked were vegetable pies?

Give your answer correct to 1 decimal place.

Ans: , ‘ ' (3]

{Go on to the next page)
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13.

At first, Jack, Ken and Leo spent a total of $2420. After Jack tripled his
spending, Ken decreased his spending by $470 and Leo increased his

spending by $150, the amount of money each boy spent became the same

in the end.

(a) How much money did Jack spend in the end?
(b) How much money did Ken spend at first?

Ans: (a) [3]
(b) 2]
(Go on to the next page)
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.14. The figure is made up of a square and 4 identical right-angled triangles. Do not write
The perimeter of the square is 48 cm. The height of each triangle is in this space
half its base. Find the areaof the figure.

Ans: [3]

(Go on to the next page)
Page 12




15. Jerry spent $92 on shoes and $64 on pants. He then spent % of his Do not write
in this space

remaining money on groceries. After buying groceries, he gave % of the

maney he had left to his sister. In the end, he was left with % of the sum

of money he had at first. How much money did he have at first?

Ans: {51

{Go on to the next page)
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16. A briefcase with 5 books in it has a mass of 1.57 kg. When 3 more books | Do not write
and 7 files are added into the briefcase, the mass becomes 2.45 kg. Each | in this space

book is 5 times as heavy as each file.

(a) What is the mass of each file?

{b) What is the mass of the briefcase when it is emply?

Ans: (&) [3]

(b) &

{Go on to the next page})
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17. Diana is 2 kg heavier than Elaine. Elaine is 3 kg heavier than Joyce. Do not write
Joyce is 8 kg lighter than Tim. The total mass of Tim and Joyce is 86 kg. in this space
What is the average mass of the 4 children?

Ans: , {4]
(Go on to the next page)

Page 15



18. A factory baked 4230 cupcakes on Monday. 20% of them were chocolate | Do not write
cupcakes while the rest were cheese cupcakes. On Tuesday,the factory in this space
baked only chocolate cupcakes. 40% of all the cupcakes baked on both
Monday and Tuesday were chocolate cupcakes.

(a) How many chocolate cupcakes did the factory bake on Monday?
(b) How many more cheese cupcakes than chocolate cupcakes were
produced by the factory at the end of both days?

Ans: (a} [2]

{b) [2]

-END OF PAPER-

Setters: Ms Chin Lian Mei, Mrs Elaine Chua, Mr Jenfry Tseng, Mr Yip Yew Fei
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1) 4

2)2

3)2

4)3

5)4

6) 3

7)4

8) 4

9)3

10) 4
11) 2
12) 3
13) 4
14) 1
15) 3

16) 902 203
17) 900 ml
18) 1/8 kg
19) 1.074
20) 81 m
21) :

22) 31 °
23)

..............




24) 245 km

25)3:7

26) 56

27) 10 buses

28) $3000

29)1/3

30) I
Flour | 1 Sa

Sugar | fu 33.2

Sunits —> 33.2
1unit —= 1/5*33.2=6.64 kg

Paper 2

1) Since the ratio of sugar is the smallest as compared to flour and butter, we have to base on
sugar to get the maximum number of cupcakes.
500/200=25
2.5*30 = 75 cupcakes

2) 10*$8.20 = $82
$152.50-582 = $70.50
$70.50/30=%235

3)Angle b =90/2=45"
Angle a + Anglec=90"°
Angle a + Angleb+Anglec=45+90=135°

toy car i g
+oy car ¥ 34
I
34*4 = $136
$150-%136 = %14
5} T 1 I
L] []
tenns rackets | : i
i T I T T T 1
xelmin-ton et
rackets = ¢ 33 ?

11u —=> 33
B6u —> 6/11*33 = 18 tennis rackets



6) 6*22 = 132
13213 = 44

25*44 = 1100 apples at first

712/3=4
9/3=3
4*4*3 =48
48-6 = 42 more cubes

2, buyrgeYrs
8) —

7S

=

sandwiche$

1u —> 2 burgers = 4 sandwiches

2u —> 2*4 = 8 sandwiches

; (2-9 >
9)
SIS
Tl A L g-5
Tank & 4 g

3u —> 12.9 litres

5u —> 5/3*12.9=21.5 litres

21.5-8.5 = 13 litres
13/5 = 2.6 litres

10a) x = 64/2 =32 ° (sum of exterior angles)
b) .Angle BGC =64 ° (corresponding angles)

Angle GBC = (180-64)/2 = 58 ° (base angles of isosceles triangles)

y = 180-58 = 122 ° (adjacent angiles on a straigh! line)

1) & Edwardae-—-ba,v id ;

M\

calyin ——7\

/| /| 1 £ A N [
L i i L 1
! ‘_/Az//l T—1 1 ; ij 3 :
&lop—>
Sunits-5units = 4units
108/4 = 27

21*27 = 567 tickets




12)
cheoren pies | %6
regetalole pies - (25
o 25
1S
frut p (2 S

125*3+46 = 421
125/421*100% = 29.7%

13) ""'"'}'"’"“"} )
Jack e
Ken //// A7 2420
T 479
LE£O J__i
150 /

$2420-$470+$150 = $2100
$2100/7 = $300
a) $300*3 =$900
b) $900+$470 = $1370

14) 48/4 =12 cm
12/2 =6 cm
Area of 4 triangles = 1/2¥12*6*4 = 144 c®
Area of square = 1212 = 144 cn?®
Area of figure = 144+144 = 288 cm?®

choes & pants grocgries gave Lo sistery feft

15)
stea VY,
45— 1Ba—2 22.0— >
2units-9units = 13units
13units —> $92+564 = $156

22units —> 22/13*156 = $264

16)3*5=15
1547 =22

2.45-1.57 = 0.88 kg
a) 1file—>0.88/22= 0.04 kg
1 book —> 0.04*5 =0.2kg
5 books —> 5*0.2=1kg
b} 1.57-1=0.57kg



17) T

|
Prana ) 3 12
|
Elaine ' 3
Joycf. _
86 k9
: —
Tm j 2
86*2 = 172 kg
17214 = 43 kg

18a) 20/100*4230 = 846 chocolate cupcakes
4230-846 = 3384 cheese cupcakes
60% --> 3384
40% --> 40/60*3384 = 2256 chocolate cupcakes
b) 3384-2256 = 1128 more cheese cupcakes






